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Bas i c  Opera t ions :  Subt rac t ion

Solve the subtraction problems.  Each of the eight 4-digit answers fits into the puzzle
below.  One digit must be placed in each box to form a 4-digit number in each row (from
left to right) and each column (from top to bottom).  The clues will help you decide where
to place the numbers.

Follow the same instructions for this puzzle.  Be careful—it has only three clues.
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Clues
A. All of the digits are odd.
B. The first digit is even and less than 5.
C. The second and third digits are equal.
D. The sum of the digits is 10.
E. The last digit is 8.
F. The first digit is 1.
G. The sum of the digits is 12.
H. The number is even and greater than 9,000.

Clues
A. The sum of the digits is 23.
E. The number is divisible by 3.
G. The number is divisible by 5.
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